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Important Instructions %&, Question paper is divided in three Sections—A), (B)

Q\Q and (C). '
) avs (o) % wht v v S s &

All questions of Section (A) are compulsory.

(iii) @ (F) W (¥) ¥ A 7 Wt v wve wat w0 2

Solve any one section from Sections (B) and (C).

(iv) mw%wm#wwﬁwwﬁaﬁm
Ll :

Write all answers of each section in same place

o) aﬁmm—ﬁmmﬁaﬁ%ﬂﬁﬁmﬁ%hgl

Maximum word-limit is only for the theoretica] questiop
. S‘
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[2]

@US-(31) / Section-(A)
AIFEH WUl qur SRRy & Rg sraieT
(Partnership Firms and Company Accounting)
: GUS-(3) F Wl v ot ettt ¥ forg sfErd €1 9E wEE 1R 6
o SAfvegEata W ¥ 1 Yl ye W 1 o Fuifa &1 9% T B IW
1R A 79 H S E ad eghvs v of €

Instruction -+ All questions of Section-(A) are compulsory for all students. Question

Nos. 1 to 6 are very short answer type questions carrying | mark each.

Answer these questions in / word or / sentence and also include objective
type questions.

TS W ¢
Objective type questions :

U1 HRE SR o R s A 1)

(37) 10% aifds
(F) 8% arfd=
&) 5% Y
(3) 6% afi®

In the absence of Pam@mip Deed, interest on partner’s loan is payablé :

la). % SQ\
(a). 10% p.a. ®

() 8%pa. o
Q

(c) 5% pQ&

) 6% pa.

(37) T F FRR - t
(&) wr % @

(@) woe & aew

(2) 379 4 = &

Debenture-holders are :

(a) creditors of the company

(b) owners of the company

(c) customers of the company

(d) None of these

NM-43 C
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[3]
1]
-3 R SRR B @ S T HE L :
(37) ST TEO W G B
(F) Wit QEERl Ht geAfd |
(§) SIgEY ¥ FEuE W

(?) 3w st

A partner can retire from the partnership firm :
(a) by giving notice of retirement
(b) by the consent of all partners
(¢) as per the provisions of the deed
(d) All ofthe above

US-4 I HOTGS o el foRa o weha € 2 [1]
Can debentures be forfeited? | _

WA-5 SN TR i o o fad Wyt M de9 Rkl 6 9w 69
S o sted ¥ 2
Atretirement the general reserve shown in balance sheet is distributed
among the partners in which ratio?

WH-6 el A e el S ?
When is Realisation Ac@nt opened?
N\ .

R\ . .
: mm7§§o T SIS W ¥ | T W W 3 i frwifa
- e 50T ¥ o B

(1]

[1]
frdor

Instruction -

-Qu@u Nos..7t0'10 are short answer-type questions. Each question
carries 3 marks, Maximum word-limit of answer is 50 words

zﬁ.ﬁuﬁmﬁﬁsod&ﬁmﬁquauﬁrﬁmﬁ@mﬁmﬁ

W Y, S W3 T W sw a4 % oy af
) 3 : - S st iftm i o
e W h

(3]

Entries
t0 forfeiture of shares. 1€ In the books of Z Ltd, related
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g 1-10

Feor

[4] |
rquf afar
i = s R dqui
TF FA 10 aﬁzs;:m mﬂwwﬁ . (11
- the public.
A cOmf)any issued 25000 equity shares of Rs. 10 c::;:;zary J[;:) o
Whole amount was received in lump-sum. Pass

Entries in the books of the company.

i fiftiee 3 T WA 99,000 . ﬁwﬁzﬁﬂ@:ﬁﬁﬂmf T

# 100 &. T 119 T fnifira fw | g fAfes il W[-l 1)
it wfafsal #ifsQ)

Durga Limited purchased a machine for Rs. 99,000 from Raj Traders

and for its payment issued 11% debentures of Rs. 100 each. Pass

necessary Journal Entries in the books of Durga Ltd.

TR ¥ v A Frge o ¥ Wi @ o fafaa \ [141+1=3]

Write any three reasons for the retirement of a partner from a firm.

. we T 11 T 12 FEETaE ¥ ¥ | Wl T W 4 e Frifa ¥ 1 @
T9 W 3R e & | IR # arfuean -9 75 ves §

Instruction : Question Nos. 11 and 12 are short.answer type questions. Each question

-1

carries 4 marks and has internal choice. Maximum word-limit of answer

is 75 words.
$

™ 3R v T WHEH-R 1 1 Iad, 2018 1 I9eh! ot A
25,000 . 33\'(29&&0"6. I 3% T5il W 8% v o 9 ) § == e
ST & A T SRR W 12% I e S ¥ 1 U Y 1 e, 2018
F1 10,0060%. FH W B F ¥ F fGUI v 5,000 T wifF a7 1.
Sfuerrl ¥ | 3% ARV TS HHA: 600 F. F 500 %, ST T | 31

fegefar, 2018 N T 3 o T ITHF FARISH ¥ 7 25,000 %, o | 9
2018 W1 - FrisA @ sy

[4]

Ram and Shyam are partners in a firm whose capitals on 1st January,
2018 were Rs. 25,000 and Rs. 20,000 respectively. They ‘are allowed
interest on capital @ 8% p.a. and interest on drawings is charged
@ 12% p.a. Ram gave Rs. 10,000 to the firm as.a loan on 1st July
2018. Shyam is entitled to get an annual salary of Rs. 5,000, Interest;

charged on their drawings were Rs. 600 and Rs. 500 respectivel
The profit for the year ended on 3]st Decemb y.

i ' er, 2018
making above adjustments was Rs. 25,000, Prepare Profit : Tore
Appropriation Account for the year 2018 and Loss
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3eIqr

OR .

A, B3 C wRRR €131 9, 2018 I 37! Fazat Frfafaa o -

e af¥r wefat o

(%.) (%.)
TR 3,000 | wRAR 1,200
it L iy 400
A - 2,000%. Y 2,650
B - 1,750%. TR 3,780
C - 1,500%. 5250 | U= 220
8,250 8,250

1 31, 2018 @%Dﬁwﬁm@aﬁﬁméﬁ%fmﬁmﬁm

Heud B §—

(i) =% 1,500 % TG % fere e 1,800 7. it ¥ forg g @werm |
(if) TR T TR R S 950 . 3R 380°%, ST T
(i) EhY T T 450 F. S T
AY-BIfH SIS @ SR |

A, B and C are partners. Their Balance Sheet as on 31 March, 2018

was as under : “QQ

Liabilities @Amount Assets Amount
S ®s) (Rs.)

Creditors Q\ 3,000 | Machinery 1.200
Capitals%Q Furniture }400
A - Rs. 2,000 Stock 2,650
B -Rs. 1,750 Debtors 3,780
C - Rs. 1500 3,250 | Cash 220
8,250 8,250

On 1st April, 2018, they admitted D for equal shares op the

conditions—

() He will bring Rs. 1,500 for

following

Goodwill and Rs. 1,800 for Capital in cash.

(ify Machinery and Furniture were valued Rs. 950 and Rs, 380 respectively
" (iify Value of stock be increased by Rs. 450.

Prepare Profit and Loss Adjustment Account.

Y
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[6]
TgA-12 mem—mwﬁmﬁm{ﬁa@' [1+1+1+]1=4]
Differentiate between Sacrificing ratio and Gaining ratio (any four).
3rerar
OR
TR ) Rt = fadivanell ot IHERe |

Explain any four characteristics of Partnership.

fader : mmuﬁwwaﬁwﬂﬂw‘%tmmmemﬁ%ﬂﬁa%l
TH W W i fahed ¥

: Question Nos. 13 to 15 are long answer type questions. Each question
carries 6 marks. Each question has an internal choice.

Wt-13 T ¥ Tawen ¥ Prefafaa gemell & dof wfafeal S [1+1+1+1+1+1=6)
() uF sfafaa dafd ¥ a5 g1 1,500 %. | |
(i) YN =949 F 1,000 T. FH)

(i) TR fo¥ oget @n ¥ mRiE e g T, ﬁ4a;ooo .
g« foFa T

(iv) 7,100 &. T H mﬁmm'ﬁsﬂ@ﬁﬁmﬁmﬁa%mmw
2, 1 T WIRSK B 5,000 T. § & foram)

(v) uRrRR@ H it foan s g1 R, = 30,000 . WTaH
- fam 09 | o
NS

vi) S F TI12,000% B A DH 7 : 5% s & sty

Instruction

Pass Journal Entries on the dissolution of a firm from the given informations :
(i) Rs. 1,500 realized from an unrecorded asset

('fﬂ- Paid dissolution expenses Rs, 1,000.

(iif) Debtors transferred to Realization Aécount realised Rs. 48,000,

(iv) Stock Rs. 7,100 transferred to Realization Account was taken
over by a partner B for Rs, 5 ,000.

() Creditors transferred to Realization Account paid off Rs. 30,000

(vi) Realization profit Rs. 12,000 t0 be distei
? istrib
in the ratio of 7 : 5. ut.ed among B and D
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WeT-14

-"""---___._
NM-43 ¢

srerar
OR

Xﬁnywmﬁ#aﬁaﬂ%mﬁ%ﬁmmﬁmﬁﬁaﬂw%ﬁfaﬁ
=it wfafedl i

(i) wmmﬁf-ﬁa@ﬁuﬁrsooom

(i) AR F 3,000 T WK H gHC|

(iif) mﬁﬁa@aﬁﬁmﬁﬁﬁmmgﬂ% 2,000 %. ® =1 AT
(iv) Tafmmi | 10,000 T. A T

(v) foere =3 % 800 %. THIY MU

(vi) TS @ F T 6,000 € X ALY H3: 1§ faafta faran < €)

X and Y are partners in a firm: Pass Journal Entries when the ﬁrm is
dissolved on the following conditions : '

() Amount realized from an unrecorded asset Rs. 8.000.

(i) Rs. 3,000 were paid in cash to creditors.

(iii) Stock transferred to Realization Account was sold for Rs. 2,000.
(iv) Rs. 10,000 were realized from investments.
(v) Dissolution expenses paid Rs. 800.

(vi) Profiton real:zatlo@s 6,000 is shared by X and Yin the ratio of 3 : 1.

A L, Mﬂ@wﬂ@m%mm 2014 9 M T g
z‘iﬂi‘lwﬁﬁ:&&é 20,000 ¥4 37 =t | g% fofg foan n fir o ofy
5,000 . FHE SR Ui o PR S SR | Y e 1 SeEd,
2015 Y fan A2 97 A 3 PE oft 1 SEd Y fRg T Mm%
S # geg 2 SFEd, 2017 8 T | why ad e I w 6%

Afen Y o A = B O R A 1 o @y [24242=6]

L, M and N are equal partners in a firm. M diéd on 3i .Deéembér
2014. On this-date, amount payable to him was Rs. 20,000. It was
decided that this amount will be paid by annuity of Rs. 5 ,000 to be
paid each year. The first payment was made on 1st J anuary, 2015 and
other payments were also made on 1st January every year. On 2nd
January, 2017 his legal representative died. Interest was allowed @
6% p.a. on balance amount. Prepare Annuity Suspense Account

P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

sraar
OR

X Ya?ﬂzwmﬁdﬁ‘m%m%ﬁﬁm—aﬁwﬁmkz:ﬁ;ﬂ‘ﬂﬂ
H H ¥ 11 wa, 2014@Xaqaa¥mmm%tw%ﬂﬂ3ﬁ
zo,oooa&u?ﬂlﬂ%ﬁﬂuﬁmw%uﬁnﬁrs,moaaﬁaﬁaﬁm

WA i WA | F2H T 1 SEa, 5015 &1 fean T aun wfa a6 3
A o 1 SR @ fR T 2 S, 2018 YR T © 9w 2

ufa ad e I W 6% aiffs 3 e J = FH AT H A L

EULEIREEEREIGHEE A [1V+ 1Y+ 1Ya+1Y42=6)

X. Y and Z are partners of a firm sharing profit and loss in the ratio
of 3 :2: 1. On lIst January, 2014, X retires from the firm. On this
day share of amount payable to him was Rs:20.000. It was decided
that this amount will be paid by annuity of Rs..3.000 to be paid each

year. The first payment was made on. Ist January, 2015 and other

payments were also rg@%on Ist January every year, On 2nd January,

2018, X died. Int was allowed @
Q‘%&‘ @

6% p.a. on balance amount
N\ :
Prepare Ang&@& Suspense Account,

TTT-15 maﬁffq%gﬁwam@moooomﬁm,zawﬁtawmw

fipifira Q| TPt Wt 2 ot

Pass Journal Entries
the company.

NM-43 C

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

OR

W7 fafree 3 100 3. A 4000, 5% FOITS 10 6. IR 0TI Wifirs 3 firey
weR Frifia ferg—emagd w20 %, 31eiE W 50 %, (v wfiem) q
A v v Wt o o e e W g i vt qgrer e §
T | O Y gt o def wfafest aif

Jain Limited issued 4000, 5% debentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable-Rs. 20 on application,
Rs. 50 on allotment (including premium) and balance on call.

Applications were received for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.

Fdr : mquﬁnﬁ@mm%lmmmsaﬁﬁuﬁ‘élm

T R Aiafn famew ¥

Instruction Question Nos. 16 and 17 are numerical questions. Each question carries

8 marks. Each question has af internal choice.
Q.
WeA-16 W, T iR ‘m&g&wﬂﬁmﬁ, St A= = far 1, 1,
A VeH %&r&% 31 TeE, 2016 1 37 Fazan Frergem o -
S\

T T wufvat aftr
(%.) (%.)
AR 8,000 | Iz 15,600
o Afufeend 3,600 | fafgy 3qer 13,000
= €9 12,000 | why 17,000
it SEES 3,000
M - 20,000%. IYEHT 3,500
T - 10,000 E. UEE] 11,500
WRd - 10,000 %.| 40,000
63,600 63,600
.-"'_"""--_.___
NM-43 ¢
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Heqr

OR

S ferfires 3 100 . A 4000, 5% FOTH 10 %, T SForas Wiy v ey
R Frifia fhe—atag W 20 %, 3need W 50 5. (Wifhaw wfira) qen
T T TR s & e SmEe W g Wit oftn aemrE wra w
TR | ST Y qedent B Sl wfafeeat sife

Jain Limited issued 4000, 5% debentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable-Rs. 20 on application,
Rs. 50 on allotment (including premium) and balance on call.

Applications were received for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.

fAdvr WW%@UWW%!WWWBWW%IW
TH W 3iafiw faweg 3
Instruction : Question Nos. 16 and

17 are numerical questions. Each question carries
8 marks. Each question has an internal choice.

Q
WgT-16 W, ALHY 3R m%&\%ﬁm% SN =Tt w5 s 12, 1/3
aihlmémgwm\gﬁ‘tﬂ%l 31 fedgew ,2o1eaﬁmfaaaﬁwqmm:
O\

E §\ -
t
(%) (%.)
AR 8,000 | Iwe 15,600
o arfufernd 3,600 | fafay g 13,000
A g4 12,000 | @y 17,000
gsft iR E 3,000
i - 20,000 %. IUER 3.500
|AEH - 10,000 %. T 11,500
YR - 10,000 %. | 40,000
63,600 63,600
""-—..._____‘_‘__-__
e ————
NM.43 ¢
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3erar

OR

X 3t v v A e € St env-giie i favier 3:1 % oFuE #
£ 321y 31 fegar, 2017 1 WEER GG A w1 e fean 5.

e Fergem o -
- wfer wufwar qfe
(%) (%.)
A7ER 2,700 | 9% ¥ A%hg 3000
= HEY 3,000 | @R 1,000
Y 1 H 3,000 | wmwe 128
X 12,0005, W 9,000
Y 12,000%.| 24,000
32,700 32,700
et | e ot &
TR 900 %., WAL 18,000 . T W 7200 T TTRR F Pl g §
2,600 %, fean m, a'qg-ﬂ\ 00 ¥. §U.|
a@m@mt(g‘@msﬁmm| [5+3=8]
X and Y are p 1S in a firm sharing profit and loss in the ratio of
3:1. They d@écided to dissolve the firm on 31 December, 2017. Their
balance sheet was‘as follows -
Liabilities Amount Assets Amount
. (Rs.) (Rs.)
Creditors 2,700 | Cash at Bank 3.000
General Reserve 3,000 | Debtors 1 .000
¥’s Loan 3,000 |Plant 19?700
Capital : X Rs. 12,000 Buildings '
Y Rs. 12,000 24,000 ' 7000
____-_'-——-—-.__
32,700 35 oo
I_\\ 32,700
- —
NM-43 C \
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| L& ]

Following were realized from assets :

Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7,200, Creditors

were paid Rs. 2,600 in full settlement, Dissolution expenses paid Rs. 500.

Prepare Realization Account and Partner’s Capital Account.

WA-17 O fafiaes S 3 10 . 9 10000 39, 4 &, 9 sie sifire ¢ Fifi
for | oftn finst W Wit o
A W 4 . W 3w (i 1 %)
A W 3 %, W 3w (Pfiem 1 5.)
Y| A W 4 % 9 3w (e 1 %)
3ifem Arem W 3 %, Wi siw (Sifim 1 %)
T Tl T T I R ) e et ST A wfafeest
whifeg | 6‘(\Q® [1+l+]+]+1+l+1+1=8]
A limited ce%pé%‘ issued 10000 shares of Rs. 10 each, payable at
premimg&s. 4 per share. Amount payable as :
On Application Rs. 4 per share (including premium Re. 1)
On Allotment Rs. 3 per share (including pPremium Re, 1)
On First Call Rs. 4 per share (including premium Re. 1)
On Final Call Rs. 3 per share (including premium Re. 1)
All amounts were duly received. Pags necessary Jou
the books of the Company, e i "
NM-43 C
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[13]
arerar

OR

o fafis 3 100 & F1A 10000, 8% g fifaa fee) sm@ga «
10 %, e W 20 ., WUH AT T 40 2. qun 3ifas ar=n W 30 ©. ufa

waﬂmﬁnﬁlmﬂnﬁmaﬂuﬁmaﬂmm‘anﬁl
o ) e ¥ o wfafe Fi)

Samta Limited issued 10000, 8% debentures of Rs. 100 each. Amount
payable Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first
call and Rs. 30 per debenture on final call. All amounts were duly

received. Pass Journal Entries in the books of the company.

@us-(&) / Section-(B)
fa=ita faavoil @1 fayersor

(Analysis of Financial Statement)

e y W HHE 18 W 19 faegsalia 79 €1 dw 7\ W 1 3w Fifa ¥

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

question carries&k%ark.
uv-18 Rl fasew gﬁ%&
® (1
Choose the ect option :

WW%WEH%

(3 11
() 24
(® 31
(?) an

The ideal liquid ratio is ;
(@) 1:1
() 2:1
() 311
(d 4:1

—

NM-43 C o
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[14]
[Va+Ya=1]

w19 =g SfE ¥ & e fafau
Write two examples of current liabilities.

: mmﬁzo@zzﬁaaﬁﬁﬂw%mﬁﬁwm4ﬁﬁﬂfﬁﬁ§l

et
TOF T T AR fawed 7
. uestion
Instruction Question Nos. 20 to 22 are short answer type questions. Each q
carries 4 marks. Each question has an internal choice.
we-20  Frafafies faawol @ yoer @ e A 1 T0A HISTT : )
ad 2017 a4 2016
faaor (%.) (%.)
IR 15,000 12,000
Hod =Y 3,000 1,000
"cﬁga =Y 2,000 2,500
TR & 13,000 15,000
=4 2017 %;é‘lman@:%usoooa |
From the follo ‘g'lnformatlon calc
ul
“@ ate Cash Flow from operating
activities @ |
___-_-_‘—-—.
Particul Year 201 l\
iculars (Rs) 7 Year 2016
— (Rs.)
Debtors
15,000
. - 12,000
tst
utstanding Expenses 3,000
Prepaid Expenses 1,000
2,000
Creditors %300
13,000
_ — 15,000
Profit during the year 2017 jg Rs. 25,009 \J
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argdar
OR

g Tl e foranell § Ag WaTE T HIC

31-3-2017 | 31-3-2018

faraTm (%.) (%)
-1t @ 1,20,000 1,710,000
R 62,000 50,000
31gq et 42,000 24,000
dga s 4,000 8,000
SRR 38,000 26,000
@At 76,000 80,000

Calculate Cash Flow Statement from the following information :

_ 31-3-2017 | 31-3-2018
Particulars
(Rs.) (Rs.)
Profit and Loss A/c. 1,20,000 1,10,000
Debtors \§® 62,000 50,000
Outstanding Rentc®> 42,000 24,000
Prepaid lnsuQ\a@e 4,000 8,000
Credito @ 38,000 26,000
Goodwi 76,000 80,000
uy-21 ﬁ’?ﬁﬁiﬁ?ﬁﬂlﬁﬁiﬂﬂﬂmmm: (4]
Y (V) 26,000 %, TR 20,000 %., W 495 6,000 %, I
FUIHE 3,000 %., TR IHT 20,000 ¥, AR 30,000 &., <7 faqy
18,000 ¥, s sifufirand 2,000 %,
From the given information, calculate Current Ratio -
Stock Rs. 26,000, Debtors Rs. 20,000, Bills Receivable Rs. 6,000
Advance Tax paid Rs. 3,000, Cash in hand Rs. 20,000 | ,' ,
Rs. 30,000, Bills Payable Rs. 18,000, B i e editors
- 16,000, Bank Overdraft R 2,000.
P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

[16]

srgar
OR

1 el | et srgar ) O AL

e 3T 1,40,000 %., it it 1,80,000 &,
TR 3,000 F., &% 1,10,000 ¥.

Calculate Quick Ratio from the following details :

Current liabilities Rs. 1,40,000, Working capital Rs.1,80,000,
Creditors Rs. 3,000, Stock Rs. 1,10,000.

WA-22  UE yar faew & 9 9w s3w fafan [1+1+1+1=4]

Explain any four objectives of Cash Flow Statement.

erar
OR

ﬂagmﬁmahmmﬁamﬁaimﬁﬁaq(ﬁs‘ /0 |

Differentiate between
Statement (any foug{\g
fder ;W W '§’ iy
T R W oae W 6 3F favifg
HAF T
- : N T 9w yiafw

Instruction Question

ash flow Statement and Fund Flow

6 marks.and it has ap, internal chojce Question carries

qT-23 ﬁﬁlﬂﬁﬁtﬂﬁ%ﬁr@quﬁw(ﬁm
Y

Explain the
p € importance of analysis of financig) stat R -
ments (any six)

Sruqy
faxig forvsram 3
ﬁ‘w% ﬁww(m&)l

Explain the limitationg of anal

YSiS Ofﬁnan R
Cial gt
NM-43 ¢ Alements (any six),

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

[17]

wuz-(|) 7 Section-(C)

S AW

(Computer Accounting)

: mamiquéwarﬁagaﬂﬂﬂw%lmmmmﬁﬁufﬁa%l

g
Instruction :

question carries 1 mark.
gya-18 el faswew gfT

Choose the correct option :
T - AR™TRE AAR?
(37) A9
(F) FHemwed
™
(%) "X g\
S

(®) mm@m
2

Which of the following is an output device?

(a) Mouse
(b) Keyboard

{¢) Monitor

Question Nos. 18 and 19 are very short answer type questions. Each

(d CPU
uv-19 5l A e Wi am fafan [Vat+ba=1]
Write the names of any two application softwares
NM-43 C
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i “ach question
Instruction - Question Nos. 20 to 22 are short answer type QUCSUOHS. Eac q
carries 4 marks. Each question has internal choice. Maximum word-limit
of answer is 75 words.
TET-20  FEER FY e F ATAR FIH THART | [1+1+1+1=4]
Explain types of computer on the basis of functionality.

3ferar
OR
FPR i fohgl wR v fodtwansii  wosmEw)
Explain any four main characteristics of computer.

U9A-21  SIEEE ey Yoiell & fafim sttt 6 wnmmn (3 ') | [1+1+1+1=4]

Explain various applications of Database Management System (any four)

in i)
Explain ariy four advantages of Database Management System

WEA-22 SO TR0 B SR ST fitfiy

. [1+1+1+1:4]
Write any four utilities of Electronic Spreadsheet

arerar
OR

g@gﬁmm—wﬁﬁéwwﬁm]

Write any four characteristics of Electron;
NIC Spread
sheet,
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